
l;=

g+= cg'dfg oyfy{

1 1=1 :yfgLo s/

1=1=1 #/ jxfn s/ 100,000.00 84,013.19

1=1=2 jxfn lj^f}/L 200,000.00 187,797.00

1=1=3 Joj;fo s/ 600,000.00 627,058.00

1=1=4 ;jf/L btf{ tyf s/ 150,000.00 152,305.02

1=1=5 Plss[t ;DklQ s/ 2,600,000.00 3,436,964.31

1=1=6 dgf]/~hg s/ 150,000.00 100,193.45

1=1=7 lj!fkg s/ 50,000.00 8,650.00

hDdf 3,850,000.00 4,596,980.97

2 1=2 ;]jf z"Ns

1=2=1 ;jf/L kfls{é 50,000.00

1=2=2 ;/;kmfO{ 200,000.00 331,892.88

1=2=3 #/ Ans gDa/ Kn]^ 350,000.00

1=2=4 zf}rfno 40,000.00 36,240.00

1=2=5 hUuf Knl^é 150,000.00 353,060.00

1=2=6 ;DklQ d'Nof+sg 150,000.00 82,505.00

1=2=7 ;*s aQL

hDdf 940,000.00 803,697.88

3 1=3 b:t"/

1=3=1 btf{ tyf gjLs/)f 3,000.00 7,602.50

1=3=2 #/ gSzfkf; 2,700,000.00 3,161,269.67

1=3=3 l;kmfl/; 1,100,000.00 1,032,505.00

1=3=4 gftf k|dfl)ft 10,000.00 7,750.00

1=3=5 ldnfkq 10,000.00

1=3=6 ljljw kmf/fd 200,000.00 215,490.00

hDdf 4,023,000.00 4,424,617.17

4 1=4 laqmL

5 1=5 ;|f]t kl/rfng

6 1=6 ;f+jf Jofh nfef+z / jf]g;

7 1=7 cGo cfo -vfg]kfgL_

1=7=1 b)* hl/jfgf 20,000.00 128,800.00

1=7=2=1 #/ ef*f 4,700,000.00 4,763,834.21

1=7=2=2 d]lzg/L pks/)f ef*f 150,000.00 120,200.00

1=7=3 w/f}^L hkmt jf lkmtf{ 50,000.00

1=7=4 ;fk^L tyf k]ZsL km%\of}{^ 220,000.00

1=7=5 cGo ljljw cfo 50,000.00 254,394.23

1=7=6 lnnfd laqmL 30,000.00 4,000.00

1=7=7 k/LIff 1,000.00 53,620.00

1=7=8 ;fem]bf/L ljsf; sf]ifsf] Jofh -MDF_ 900,000.00

1=7=9 lu^L, jfn'jf tyf :n]^ ('uf 1,300,000.00 1,301,885.00

hDdf 7,421,000.00 6,626,733.44

s'n cfGtl/s >f]tsf] cfo 16,234,000.00 16,452,029.46

8 1=8 ul/aL lgjf/)f sf]if -Pd=l*=Pkm=_

9 2=1=1 g]kfn ;/sf/af^ cg"bfg 

cf=j= 2067.068 sf] ah]^ tyf sfo{qmdsf] cfo cg"dfg ljj/)F

cf=j=067.68 sf]
cfDbfgLsf zLif{sx?

;+s]t g+=



2=1=1=1 g]kfn ;/sf/af^ cg"bfg  -;zt{_

2=1=1=1=1 :yfgLo oftfoft k"jf{wf/ If]qut sfo{qmd 2,500,000.00 2,500,000.00

2=1=1=1=2 ;fdflhs ;"/Iff cg"bfg 8,569,000.00 8,568,900.00

2=1=1=1=3 Pn=hL=l;=l*=lk= sfo{qmd 13,983,000.00 13,983,000.00

2=1=1=1=4 k'¤hLut cg"bfg -hu]*f sf]if_ 13,045,000.00 13,045,000.00

2=1=1=1=5 ;*s af]*{ g]kfn 1,283,000.00 1,282,166.00

hDdf 39,380,000.00 39,379,066.00

2=1=1=2 g]kfn ;/sf/af^ cg"bfg -lgzt{_

2=1=1=2=1 ;/;kmfO{ pks/)f v/Lb -;jf/L ;fwg_ c=

2=1=1=2=2 kz" jwzfnf lgdf{)f Pj+ Joj:yfkg

2=1=1=2=3 k|zf;lgs cg"bfg -kl~hs/)f ;d]t_ 1,765,000.00 1,765,000.00

2=1=1=2=4 ;fd"bflos ljsf; cg"bfg -ul/jL lgjf/)F_ 500,000.00 500,000.00

2=1=1=2=5 :yfgLo ljsf; z"Ns sf]if 8,255,000.00 8,255,000.00

2=1=1=2=6 cGo k"hLut cg'bfg 8,477,000.00 8,477,000.00

hDdf 18,997,000.00 18,997,000.00

2=1=1=3 g]kfn ;/sf/af^ cg"bfg -cGo gub cg'bfg_ 118,000.00 117,200.00

10 3=1 lh=lj=;=af^ /fhZj af+*kmf+*af^ cfo

3=1=1 sjf*L

3=1=2 ;|f]t af+*kmf+* 45,000.00 45,000.00

3=1=3 lh=lj=;= / uf=lj=;= Doflré -;fem]bf/L_

hDdf 45,000.00 45,000.00

11 4=1 a}b]lzs ;xfotf

12 5=1 cGo cg'bfg

5=1=1 gu/ ljsf; sf]if cg"bfg 725,100.00 725,055.41

5=1=2 ;fIf/tf sfo{qmd ;+rfng cg"bfg 470,184.88 254,892.00

5=1=3 cGo ;+:yf cg"bfg 2,169,000.00 2,168,938.40

hDdf 3,364,284.88 3,148,885.81

13 6=1 cGo lgsf;f

14 7=1 C)f ;xof]u

7=1=1 gu/ ljsf; sf]if

7=1=2 cGo ljQLo ;+:yfx?

hDdf

7=2 ;fk^L -/f]* af]*, ;fem]bf/L / cGo_ 2,281,000.00 2,280,982.38

15 8=1 rGbf bfg pkxf/

8=1=1 nfut ;xeflutf -(n, lkr / cGo_ 10,053,000.00 10,052,121.23

s'n afx\o >f]tsf] cfo 74,238,284.88 74,020,255.42

16 9=1 ut jif{sf] lhDd]jf/L

9=1=1 a}+s df}Hbft 7,339,684.72 7,339,684.72

9=1=2 txljn df}Hbft 197,045.55 197,045.55

hDdf 7,536,730.27 7,536,730.27

s'n cfo 98,009,015.15 98,009,015.15



l;=

g+= cg'dfg oyfy{

1 2=1 tna -kfl/>lds_

2=1=1 -s_ sd{rf/L k|zf;g 4,595,500.00 4,583,743.30

-v_ ;+lrt labf, cf}iflw pkrf/ tyf cGo 180,000.00 179,966.40

2=1=2 hgk|ltlgwL kfl/>lds

hDdf 4,775,500.00 4,763,709.70

2 2=2 sd{rf/L eQf 609,000.00 608,795.00

2=2=2 a}&s eQf

2=2=2=1 hgk|ltlgwL a}&s 215,500.00 215,400.00

2=2=2=2 j*f ;ldlt a}&s

2=2=2=3 of]hgf cg"udg, kl/jxg tyf ;+rf/ -g=kf=;b:o / 

kl/ifb\ ;b:o ;d]t_ 200,000.00 189,700.00

hDdf 415,500.00 405,100.00

2=2=3 n"uf eQf -kf]zfs_

2=2=3=1 sd{rf/L 249,000.00 248,712.00

2=2=3=2 gu/k|x/L /f;g eQf 62,000.00 61,182.00

hDdf 311,000.00 309,894.00

3 2=3 e|d)f vr{ tyf b}lgs eQf

2=3=1 kbflwsf/L

2=3=2 sd{rf/L 562,000.00 561,369.00

hDdf 562,000.00 561,369.00

4 2=4 ;]jf tyf sfof{no ;+rfng

2=4=1 sfof{no ;]jf vr{

2=4=1=1 wf/f÷ljB"t 145,000.00 144,143.69

2=4=1=2 ^]lnkmf]g ^«+sn 211,000.00 210,247.17

2=4=1=3 ;]jf cGo 274,000.00 273,392.65

2=4=2 sfof{no ;+rfng vr{

2=4=2=1 :^]zg/L ;fdfg 275,000.00 270,147.00

2=4=2=2 %kfO{ 402,000.00 401,021.00

hDdf 1,307,000.00 1,298,951.51

5 2=5 ef*f 180,000.00 170,000.00

6 2=6 dd{t ;Def/

2=6=1 ;jf/L ;fwg 262,000.00 261,679.00

2=6=2 k|zf;g cGo 135,000.00 134,263.00

hDdf 397,000.00 395,942.00

7 2=8 kq klqsf tyf k":ts 50,000.00 49,175.00

8 2=9 OGwg

2=9=1 k|zf;g 365,000.00 364,026.53

2=9=2 ljljw 111,000.00 110,882.00

hDdf 476,000.00 474,908.53

9 2=10 ljljw tyf e}k/L

2=10=1 ljljw

2=10=1=1 hnkfg tyf cltly ;Tsf/ 140,000.00 138,470.00

2=10=1=2 rf*kj{ k"hf 60,000.00 55,667.00

2=10=1=3 vfBfGg cfxf/

cf=j= 067.68 sf] ah]^ tyf sfo{qmdsf] Joo cg"dfg ljj/)f

;+s]t g+=
vr{sf zLif{sx?

cf=j=067.78 sf]



2=10=1=4 n]vfk/LIf)f 70,000.00 68,047.00

2=10=1=5 ;|]:tf k|)ffnL cWofjlws, k]ZsL / j]?h" km%\of}^ 25,000.00 25,000.00

hDdf 295,000.00 287,184.00

2=10=2 e}k/L cfpg]

2=10=2=1 cGo -afof] OlGhlgo/Lé ;d]t_ 1,600,000.00 1,590,348.00

2=10=2=2 #/ lgdf{)f tyf ;jf/L ;fwg vl/b ;fk^L 200,000.00 199,081.00

2=10=2=3 /fli^«o lbj;x?

hDdf 1,800,000.00 1,789,429.00

10 2=11 vKg] dfn ;fdfg -sDKo'̂ /, ;jf/L ;fwg_ 668,000.00 667,146.00

11 2=12 tflnd, of]hgf tyf ah]^ th"{df

2=12=1 tflnd uf]i&L ;]ldgf/ 100,000.00 98,750.00

2=12=2 gu/kl/ifb\ ;+rfng 100,000.00 100,000.00

2=12=3 j*f Joj:yfkg vr{ 77,000.00 76,361.00

hDdf 277,000.00 275,111.00

12 2=13 cg"bfg, cfly{s ;xfotf, rGbf k"/:sf/, ;b:otf z"Ns

2=13=1 cg"bfg, cfly{s ;xfotf, rGbf

2=13=1=1 c;xfo bLg b"MvL 50,000.00 31,470.00

2=13=1=2 ;+# ;+:yf 130,000.00 129,500.00

2=13=1=3 b}jL k|sf]k 54,000.00 53,500.00

2=13=1=4 ljljw 16,000.00 15,800.00

hDdf 250,000.00 230,270.00

2=13=2 ;b:otf z"Ns 40,000.00 30,000.00

2=13=3 k"/:sf/ ;Ddfg 15,000.00 7,000.00

13 2=14 hUuf v/Lb

14 2=15 ejg lgdf{)f tyf v/Lb

15 2=16 cGo lgdf{)f tyf ;"wf/ vr{

16 2=17 pTkfbg ;fdu|L÷;]jf

17 2=18 nufgL

2=18=1 C)f nufgL

2=18=2 z]o/ nufgL

hDdf

18 2=19 cfo tyf cfGtl/s ;fk^L lkmtf{ 224,000.00 223,136.83

19 2=20 ;f¤jf tyf Jofh e'QmfgL

20 2=21 sd{rf/L sNof)f vr{ 800,000.00 800,000.00

s'n k|zf;lgs vr{ 13,452,000.00 13,347,121.57



cf=j= 067.68 sf] k'+hLut ah]^ cGtu{tsf ah]^ tyf sfo{qmdx?sf] lj:t[t Joo cg"dfg ljj/)F

l;=

g+= cg'dfg oyfy{

1 2=16 tna / eQf

s_ tna 5,223,000.00 5,222,105.27

v_ eQf 954,000.00 953,441.60

hDdf 6,177,000.00 6,175,546.87

2 2=16=1 zx/L ljsf; sfo{qmd

2=16=1=1 xfp; gDal/é tyf ;*s gfdfs/)f sfo{

2=16=1=2 hUuf ljsf; sfo{qmd 50,000.00

2=16=1=3 k|fs[lts k|sf]k Joj:yfkg sfo{qmd, hgr]tgf Pj+ 

/fxt ljt/)F 605,000.00 604,892.00

2=16=1=4 /fhZj Joj:yfkg tyf ;"b[(Ls/)f 610,000.00 609,903.00

2=16=1=5 gfnf Pj+ lkr lgdf{)f -hu]*f_ 19,727,000.00 19,726,936.00

2=16=1=6 a; kfs{ Joj:yfkg 1,984,000.00 1,983,618.00

2=16=1=7 cfjlws of]hgf th'{df 583,000.00 582,452.00

2=16=1=8 ljleGg ;km\^jo/ / lgb]{lzsf tof/L -

Pn=lh=l;=l*=_ 25,000.00 24,381.00

hDdf 23,584,000.00 23,532,182.00

3 2=16=2 gu/ ;'rgf, ;+rf/ / k|sfzg

2=16=2=1 ;'rgf s]Gb| Joj:yfkg 15,000.00 9,600.00

2=16=2=2 a|";]^ tyf ultljlw k|sfzg 60,000.00 26,000.00

2=16=2=3 k":tsfno -jfrgfno ;d]t_ 50,000.00 50,000.00

2=16=2=4 pks/)f vl/b -Pn=lh=l;=l*=lk_ 214,000.00 213,901.00

2=16=2=5 sDKo'^/ tyf ^]lnkmf]g g]^jls{é 83,000.00 82,600.00

2=16=2=6 cfd ;+rf/ If]q k|aw{g tyf :t/a[l$ -lhNnf l:yt 

kqsf/ %ftf ;+u&g dfkm{t_ 162,000.00 161,700.00

2=16=2=7 dfgªsf]^df ^]lnkmf]gsf] ^fj/ lgdf{)fsf nflu 

lj=l^=P;= sf]&f lgdf{)f -j*f ljsf;_ 200,000.00 200,000.00

hDdf 784,000.00 743,801.00

4 2=16=3 ko{^g, jgjftfj/)f tyf e';+/If)f

2=16=3=1 ko{^g k'jf{wf/ tyf k|rf/ k|;f/ 252,000.00 248,000.00

2=16=3=2 v"nfrf]sdf j[Iff/f]k)f Pj+ ;+/If)f sfo{qmd -j*f 

ljsf; ;d]t_ 55,000.00 13,112.00

2=16=3=3 e'Ifo lgoGq)fsf nflu tf/hfnL v/Lb 100,000.00 14,350.00

2=16=3=4 dxlif{ j]bJof; cWoog cg";Gwfg s]Gb| / Jof; 

dxf]T;j 32,500.00 32,500.00

2=16=3=5 kfs{ lgdf{)f Pj+ Joj:yfkg 100,000.00 5,000.00

2=16=3=6 d& dlGb/ Pj+ wfld{s :yn lgdf{)f, dd{t ;Def/

17,000.00 16,000.00

2=16=3=7 k/Dk/fut snf, ;flxTo Pj+ nf]s ;+:s[lt hu]gf{ 100,000.00 87,900.00

2=16=3=8 h+un kfs{, kf~rfog IF]q u'? of]hgf sfof{Gjog 

;d]t 834,000.00 833,334.00

hDdf 1,490,500.00 1,250,196.00

5 2=16=4 lzIff tyf v]ns'b

2=16=4=1 ljBfno dd{t, kmlg{r/ tyf h:tfkftf Pj+ u")f:t/ 

a[l$ sfo{qmd 691,000.00 691,000.00

;+s]t g+= cGo lgdf{)f ;"wf/ cGtu{t
cf=j=67.68 sf]



2=16=4=2 gof+ ejg lgdf{)F -Pn=lh=l;=l*=lk= ;d]t_ 7,542,000.00 7,541,406.00

2=16=4=3 v]ns'b 300,000.00 194,633.00

2=16=4=4 ljBfno zf}rfno lgdf{)f 50,000.00

2=16=4=6 ljBfno ejg lgdf{)f -hu]*f sf]if sfo{qmd_ 1,564,000.00 1,563,245.00

2=16=4=7 j*f ljsf; cGtu{tsf sfo{qmdx? 560,000.00 458,200.00

hDdf 10,707,000.00 10,448,484.00

6 2=16=5 n}lª+s ;dfgtf, ;fdflhs ;dfj]zLs/)f 

2=16=5=1 ;fIf/tf cleofg 255,000.00 254,892.00

2=16=5=2 ;fd"bflos :jf:Yorf}sL ;+rfng -aLp k'¤hL_ 30,000.00 24,825.00

2=16=5=3 ckfétf k"g:yf{kg 50,000.00 1,000.00

2=16=5=4 afn ljsf; ;DaGwL ;fdu|L ljt/)f sfo{qmd -

Pn=lh=l;=*L=lk=_ 264,000.00 263,620.00

2=16=5=5 ;fd"bflos ;/;kmfO{ tyf :jf:Yo lzIff -dlxnf 

:jo+;]ljsf ;d]t_ sfo{qmd 114,000.00 113,290.00

2=16=5=6 o"jf ljsf; sfo{qmd -;dGjo sf]if_ 100,000.00 47,000.00

2=16=5=7 s_ a[$a[$f Pj+ cGo ;Ddfg sfo{qmd 25,000.00

v_ zlxb ;Ddfg sfo{qmd 25,000.00

2=16=5=8 ;fd"bflos dWo:ytf sfo{qmd 55,000.00 43,900.00

2=16=5=9 ;fd'bflos ejg lgdf{)f -j*f ljsf; sfo{qmd_ 327,500.00 293,598.00

2=16=5=10 dlxnf hfu/)f sfo{qmd tyf ;Lk ljsf; 203,000.00 202,692.00

2=16=5=11 blnt, cflbjf;L, hghflt, d"l:nd ;d"bfo / ljkGg 

ju{ ;DaGwL sfo{qmd -Pn=lh=l;=*L=lk= ;d]t_ 102,000.00 101,400.00

2=16=5=12 ljkGg ju{x?nfO{ zf}rfno -v'nf lb;f d'St 

cleofg ;+rfng_ lgdf{)F -LGCDP_ 828,000.00 827,853.00

2=16=5=13 ;fdflhs ;"/Iff sfo{qmd 8,569,000.00 8,568,900.00

2=16=5=14 ;+# ;+:yf ;xeflutf sfo{qmd ;+rfng

hDdf 10,947,500.00 10,742,970.00

7 2=16=6 hgzlQm ljsf; tyf bIftf a[l$

2=16=6=1 tflnd tyf dfgj ;+;fwg ljsf; 126,000.00 125,368.00

2=16=6=2 cWoog, cjnf]sg, e|d)f -Pn=lh=l;=l*=lk= ;d]t_

hDdf 126,000.00 125,368.00

8

2=16=7 u/LaL lgjf/)f tyf ;fdflhs kl/rfng -?k_

2=16=7=1 ahf/ pTk|]/s tna eQf 23,160.00

2=16=7=2 dfgj ;+zfwg ljsf; 50,000.00 10,000.00

2=16=7=3 l;k ljsf; sfo{qmd 109,000.00 108,256.00

2=16=7=4 tflnd sfo{qmd

2=16=7=5 ^f]n ;+:yfut ljsf;

2=16=7=6 lap k'+hL cg'bfg

2=16=7=7 u|fld)f gu/ ;dGjo sfo{qmd 75,000.00

2=16=7=8 ;fj{hlgs lghL ;fem]bf/L sfo{qmd 10,296.00

2=16=7=9 Pr=cfO{=le= P*\; hgr]tgf sfo{qmd

2=16=7=10 ;fgf pBdL ;d"xnfO{ C)f nufgL 8,028.85

2=16=7=11 ljljw cGo sfo{qmd 100,000.00 20,640.00

hDdf 375,484.85 138,896.00

9 2=16=8 ejg lgdf{)F tyf k'¤hLut ;"wf/



gu/ ljsf; sf]if / :yfgLo lj=d= cg"bfg / C)f

gof+ sfof{no ejg lgdf{)f -g=lj=sf]if ;f+jf Jofh 

e'StfgL ;d]t_ 2,950,000.00 2,949,898.00

sfof{no ejg dd{t, lgdf{)f 337,000.00 336,152.00

hDdf 3,287,000.00 3,286,050.00

10 2=16=9 kmf]x/d}nf Joj:yfkg tyf ;/;kmfO{

2=16=9=1 ;jf/L ;fwg tyf pks/)f v/Lb

2=16=9=2 ;jf/L OGwg 350,000.00 284,962.00

2=16=9=3 cf}iflw, pkrf/ tyf kf]zfs 57,000.00 56,731.00

2=16=9=4 ;/;kmfO{ ^f]n kl/rfng sfo{qmd -r]tgfd'ns_ 130,000.00 129,732.00

2=16=9=5 ;/;kmfO{ pks/)f dd{t ;Def/ tyf d"VooGq 

kl/jt{g 461,000.00 460,060.00

2=16=9=6 Nof)*lkmn ;fO^ -Pn=lh=l;=l*=lk=_ 100,000.00 75,236.00

2=16=9=7 kz" jw:yn Joj:yfkg

2=16=9=8 ef}lts lgdf{)f -*f+u|]vf]N;L kSsL gfnf lgdf{)F_ 3,572,000.00 3,500,000.00

2=16=9=9 ;*s tyf gfnf ;/;kmfO{ sfo{ 135,000.00 134,446.00

hDdf 4,805,000.00 4,641,167.00

11 2=16=10 ljB"t

2=16=10=1 ;*saQL dd{t ;Def/ 360,000.00 359,272.00

2=16=10=2 gof¤ h*fg -dxTjk')f{ ;fj{hlgs :ynx?df_ 52,000.00 20,344.00

2=16=10=3 ljB"t nfOg lj:tf/ -g=kf=, k|flws/)f ;fem]bf/L_

hDdf 412,000.00 379,616.00

12 2=16=11 oftfoft

2=16=11=1 OGwg -nf]*/ l^k/ / df]^/;fOsn ;d]t_ 300,000.00 285,478.00

2=16=11=2 nf]*/÷l^k/ d"VooGq kl/jt{g tyf ;+ef/ 350,000.00 213,393.00

2=16=11=3 gof+ df]^/ dfu{ lgdf{)f -Pn=lh=l;=l*=lk=_ 650,000.00 92,000.00

2=16=11=4 u|fe]n tyf c:yfoL gfnf -Pn=lh=l;=l*=lk=_ 764,000.00 763,700.00

2=16=11=5 #f]*]^f]÷uf]/]^f] af^f] 337,000.00 336,068.00

2=16=11=6 km*\s] tyf emf]n"é]k"n dd{t

2=16=11=7 sNe {̂ lgdf{)f -x\o"d kfOk vl/b_ -Pn=lh=l;=l*=lk=_

814,000.00 713,735.00

2=16=11=8 :yfgLo ;*sx?df :Nofj / k"m^kfy lgdf{)F 191,100.00 191,039.00

2=16=11=9 ;*s af]*{ tkm{sf of]hgfx? 1,900,000.00 1,531,620.00

2=16=11=10 shj] lgdf{)f dd{t ;d]t 50,000.00

2=16=11=11 hu]*f sf]if tkm{sf of]hgfx? 1,967,000.00 1,966,537.00

2=16=11=12 :yfgLo oftfoft k"jf{wf/ If]qut sfo{qmd 3,388,000.00 3,387,700.90

2=16=11=13 ;fj{hlgs zf}rfno lgdf{)f 100,000.00

2=16=11=14 j*f ljsf; tkm{sf of]hgfx? 686,000.00 685,985.00

hDdf 11,497,100.00 10,167,255.90

13 2=16=12 vfg]kfgL

2=16=12=1 bdf}nL vfg]kfgL cfof]hgf -Pn=lh=l;=l*=kL=_ 833,000.00 833,000.00

2=16=12=2 cGo demf}nf tyf ;fgf vfg]kfgL of]hgf -kfOk 

v/Lb_ -Pn=lh=l;=l*=lk=_ 3,814,000.00 3,813,373.00

2=16=12=3 j*f ljsf; cGtu{tsf vfg]kfgL sfo{qmd 857,500.00 857,475.00

hDdf 5,504,500.00 5,503,848.00



14

2=16=13 s[lif ljsf; sfo{qmd tyf l;+rfO{ -j*f ljsf; 

;d]t_ 500,000.00 430,244.00

15 2=16=14 lghL tyf ;fj{hlgs ;+o"Qm nufgL sfo{qmd-kL=kL=kL=_ 50,000.00

16 2=16=15 ljljw k"m^s/ of]hgfx? 3,889,930.30 3,889,147.00

17 2=16=16 lh=lj=;= tgx'¤ tkm{sf of]hgfx? 45,000.00 45,000.00

18 2=16=17 ljz]if sf]if

s_ k|fs[lts k|sf]k 50,000.00

v_ dd{t ;Def/ 200,000.00

u_ u/LaL lgjf/)f tyf ;fdflhs kl/rfng 50,000.00

#_ dlxnf tyf afnaflnsf 25,000.00

ª_ :jf:Yo ;fd'bflos 25,000.00

r_ jftfj/)fLo Joj:yfkg 25,000.00

hDdf 375,000.00

hDdf ljsf; vr{ 84,557,015.15 81,499,771.77


